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Section A
Answer all the questions in this section.
1 The dependency ratio is the number of people:

A of working age in comparison to the total number of people in the labour force

B who are currently unemployed in comparison to the total number of people in the labour
force

who are economically inactive in comparison to the total number of people in the labour
force

who are unemployed in developing countries in comparison to the total number of

people in the labour force in developed countries

o O

Your answer

[1]

2 In the diagram below, which of the following would have caused the rise in real GDP from Y

to Y.?
Price
level
AS
I
| |
I |
| | AD,
| AD
| |
0 Y Y, RealGDP
A A decrease in the average propensity to consume
B A decrease in the marginal propensity to save
C Anincrease in the marginal propensity to import
D Anincrease in the marginal rate of tax

Your answer

[1]
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3 Which of the following is a policy measure available to a central bank?

A

Setting the basic rate of income tax

B Setting the budget for government spending

C
D

Your answer

Setting the national minimum wage
Setting the short term interest rate

[1]

4 Which of the following would cause the demand curve for a product to shift to the right?

o0 w>

Your answer

A fall in the price of the product

An increase in the demand for a complementary good
A decrease in the size of the country’s population
An intensive advertising campaign for a substitute product

[1]

5 Which statement explains the term ‘productive efficiency’?

A
B
C
D

Your answer

The level of output at which average cost is at its lowest
The level of output at which marginal cost is at its lowest
The level of output at which marginal cost is equal to average revenue
The level of output at which marginal cost is equal to marginal revenue

[1]

6 A country has a deficit in the current account of its balance of payments. Its government
devalues its currency.

Which combination of price elasticities of demand and supply would enable the devaluation to

redu

Your answer

©0CR 2016

PED for imports

-0.2

—0.4

—0.3

ce the deficit?
PED for exports
A -0.4
B -0.5
C -0.4
D -1.3

0.0
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7 According to the Harrod—Domar model of growth, which of the following combinations is likely
to result in the fastest rate of economic growth?

Savings ratio Capital-output
ratio
A High High
B High Low
C Low High
D Low Low

Your answer

[1]

8 How can an economy that is currently employing all its resources increase its output?

A Improving the state of technology

B Increasing consumption by lowering prices

C Increasing the velocity of circulation of money

D Redistributing income between factors of production

Your answer D
[1]

9  Which of the following defines a situation where positive externalities of consumption exist?

Marginal social benefit is greater than marginal private benefit
Marginal social cost is greater than marginal private cost
Marginal private benefit is greater than marginal social benefit
Marginal private cost is greater than marginal social cost

OO m>

Your answer

[1]
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10 The diagram below represents a firm operating in monopolistic competition.

Price

Which of the following statements is correct?

The firm achieves productive efficiency

The firm earns total revenue represented by the area RPST
The firm is operating on the elastic section of its demand curve
The firm’s supernormal profit is represented by the area ORTV

oO0Ow>

Your answer

[1]

11 The rate of economic growth in China has led to more factories and infrastructure being built
on land that could have been used for houses.

The demand for land in China can best be described as:

A complementary
B composite

C derived

D joint

Your answer

[1]
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12 In order to increase production in the short run a firm that produces toys adds units of labour to
a fixed supply of capital equipment.

The table below shows the relationship between increasing units of labour and the total output
of toys.

Units of labour 1 2 3 4 5 6 7 8 9 10
Output of toys 12 | 27 | 46 | 67 | 88 | 107 | 122 | 132 | 136 | 135

At what point does the firm first begin to experience diminishing returns?

When the 4th unit of labour is employed
When the 5th unit of labour is employed
When the 6th unit of labour is employed
When the 10th unit of labour is employed

o0 w>

Your answer

[1]

13 Which of the following is not a factor affecting the elasticity of supply for labour?

The availability of labour in other industries
The extent of unemployment

The labour cost as a proportion of total costs
The time period

Your answer D

14 A business has a divorce between ownership and control and its management is aware of the
need to meet the demand of shareholders.

o0Ow>

[1]

Which of the following business objectives is the most likely to be adopted by its

management?

A Corporate social responsibility
B  Profit maximisation

C Profit satisficing

D Utility maximisation

Your answer

[1]
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15 An economy has the following leakages:

¢ Marginal propensity to save = 0.1
e Marginal rate of taxation = 0.2
e Marginal propensity to import = 0.2

Its government wants to raise its GDP from $300bn to $450bn. By how much should it increase its
spending in order to achieve its objective?

A $15bn
B $60bn
C $75bn
D $150bn

Your answer

[1]

16 Which of the following is the fundamental problem facing all economies?

A The danger of deflation

B Frictional unemployment

C What, how and for whom to produce
D The unequal distribution of income

Your answer

[1]

17 5000 units of a product are supplied at a price of £40. The price elasticity of supply of the
product is 0.8. If the price rises to £50, what would be the increase in supply?

A 400
B 800
C 1000
D 1250

Your answer

[1]

18 Which of the following explains why the government provides public goods?

They are subject to information failure
There are missing markets in these goods
They tend to be over—produced

Their production can increase employment

o0Om>

Your answer

[1]
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19 Which of the following is a characteristic of a customs union but not of a free trade area?

A common external tariff
Fixed exchange rates

oOw>

Your answer

A common currency between the member states

The absence of tariff barriers between member states

20 The following diagram represents the labour market conditions in a particular industry.

Wage Rate

SL1 SL

E,

D,

0

Employment

Which of the following combinations of statements is correct if the supply of labour shifted
from SL to SL1 resulting in a change in the labour market equilibrium from E to E1?

[1]

Statement 1

Statement 2

A | Economic rent is unchanged

Labour will be supplied whatever the wage
rate

B | Economic rent is unchanged

There would be no demand for labour at a
wage rate above the equilibrium

C | Transfer earnings are unchanged

Labour will be supplied whatever the wage
rate

D | Transfer earnings are unchanged

There would be no demand for labour at a
wage rate above the equilibrium

Your answer

©0CR 2016
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21 A British manufacturer of luxury cars sets its prices in pounds sterling (£) and sells 90 cars per
week in the USA when the price is £200 000 per car and the exchange rate is £1 = $2. The
price elasticity of demand for its cars in the USA is unitary.

Assuming an unchanged sterling price, what is the maximum number of cars it can sell per
week if the exchange rate changes to £1 = $1.50?

A 60
B 90
C 120
D 150

Your answer

[1]

22 An employer pays all his workers the same wage. At present he employs 50 workers at £20.00
per day. He has to increase the wage by 20p per day to attract an extra worker.

What is the marginal cost of the extra worker to the employer?

A 20p

B £20.20

C £30.20

D £1030.20

Your answer

[1]

23 Which of the following is a characteristic of globalisation?

A reduction in the harmonisation of economic policies

A reduction in the impact of external shocks on national economies

A reduction in the power of international organisations such as the IMF
A reduction in the segmentation of markets between national economies

OO w>

Your answer

[1]

©0CR 2016 H460/03 Turn over
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24 The table below shows selected economic data on four countries in 2012.

25

26

Country GDP Exports Imports Stock of FDI | Stock of FDI
(US$bn PPP) (US$bn) (US$bn) at home abroad
(US$bn) (USs$bn)
Belgium 416 305 312 1160 1185
Denmark 209 106 98 148 139
Germany 3228 1460 1250 1320 1830
USA 16 240 1562 2264 2670 4460

Which country was the most integrated into the global economy?

A Belgium
B Denmark
C Germany
D USA

Your answer D

A country is faced with a surplus in the current account of its balance of payments and
unemployment.

Which of the following would reduce both of these problems?

OO w>

Your answer

A decrease in its government spending on education
A decrease in its interest rates
An increase in its rate of corporation tax
An increase in the value of its currency

[1]

[1]

Which of the following is a reason why economists criticise the traditional Phillips Curve as a
tool for explaining the relationship between macroeconomic variables?

o0Ow>

Your answer

©0CR 2016

H460/03

Individuals adapt their expectations of inflation as the price level changes.
Individuals suffer from money illusion so believe prices are stable when they are not.
It assumes that real wages rather than money wages are an indicator of inflation.
There is a trade—off between inflation and unemployment in the short run.

[1]
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27 Which of the following could be the numerical value of XED for two products which are weak

substitutes for each other?

A -2
B -0.2
C +0.2
D +2

Your answer

[1]

28 The information in the table below shows the price index in the years 2008 and 2014 in four

countries.

In which country was the inflation rate highest between 2008 and 20147?

Country 2008 price index 2014 price index
(2005=100) (2005=100)
A 104 153
B 112 230
C 105 210
D 140 260

Your answer

[1]

29 The money supply, the velocity of circulation, the price level and the volume of transactions all

have a base year index (year 1) of 100. In year 2 the index numbers were:

e the money supply 104
¢ the velocity of circulation 100
¢ the volume of transactions 102.

To the nearest whole number, what was the price level index in year 2?

A 96
B 98
C 102
D 106

Your answer

30 Which of the following factors has contributed to globalisation?

Higher trade barriers

Improvements in communications
More restrictions on capital movements
Tighter immigration controls

o0Ow>

Your answer

©0CR 2016 H460/03
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Section B

Read the following extracts and answer all questions which follow.

Extract 1

The UK is under water

In the winter of 2013-2014 England saw some of the worst storms since records began. More
than five million people were put at risk from flooding. Many of these were hit directly as their
homes were flooded. Some businesses were also flooded and suffered a loss of customers
and disruption to supplies. In the south of the country, in particular, infrastructure was badly
disabled. Many business owners feared for their livelihoods. Only time will tell what the
negative multiplier effect has been on those regions.

The Environment Agency was heavily criticised for its handling of the floods and much debate
was had around the lack of government intervention; in particular, the merits of dredging rivers.
However, in order to receive funding from the government, the Environment Agency has to
demonstrate that a flood defence project will match a Cost Benefit Ratio of 1:8, i.e. for every £1
spent there needs to be at least an £8 return in avoided flood damage. In a Cost Benefit
Analysis of flood defences, a business failure would be considered an economic cost, whereas
prevention of business failure an economic benefit. Other considerations are the loss of
agricultural output and supply—side consequences: health issues and social cohesion, as well
as a loss of productivity.

It was claimed that there would have to be an annual £20m rise in the government’s £600m
flood defence budget, as well as any inflationary increase, just to maintain the UK'’s present
level of protection. The government would need to consider the opportunity cost of this
decision because of the trade—off between environmental protection expenditure and other
forms of government spending.

Perhaps this type of extreme weather should not be a surprise to economic agents. In 2006
Lord Nicholas Stern from the London School of Economics published a report on the
economics of climate change. This urged policy—makers to realise the negative externalities
resulting from their patterns of production and consumption in order to reduce emissions. He
considered that the total cost and risk of climate change could amount to the equivalent of
losing at least 5% of global GDP each year

The storms and flooding of 2013/14 were unprecedented; costs to repair the damage were
estimated at the time to be in the region of £1bn. However, Mark Carney, the Governor of the
Bank of England, expressed his opinion that there would be a ‘dent’ in economic activity but it
would not harm the overall recovery that the UK had started to experience during 2013.

Some economists argue that to truly address this market failure the government response
needs to be wider than just flood prevention. It should consider the environmental damage that
UK economic activity causes and how to limit such damage. The government currently uses a
range of environmental taxes but their success in reducing the negative externalities of both
consumption and production has been questioned. Could further policies such as
environmental standards be more effective at correcting market failure and the subsequent
impact on economic efficiency for both micro and macroeconomic performance?

©0CR 2016 H460/03 Turn over
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Extract 2

Environmental taxation in the UK

Fig. 2.1 shows UK government revenue from environmental taxation.

Fig. 2.1 — Environmental taxation as a percentage of UK government tax revenue,

1998-2012
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Extract 3

How will we manage the rising demands for water?

While the UK experienced flooding, the Organisation of Economic Cooperation and
Development (OECD) released a report which warned of the long term problems that will occur
for the global economy due to a lack of water. The OECD Secretary—General warned that,
‘Without major policy changes, we risk high costs to economic growth, human health, and the
environment. But with sustainable financing, effective governance and coherent policies,
governments can harness water’s potential...’

The report highlighted the global challenges posed by increasingly rapid urbanisation,
population growth and changing economic dynamics for managing water supply. With water
demand projected to increase by 55% by 2050, there will be increased rivalry and excludability
for this increasingly scarce resource. By that date, it is predicted that:

e 3.9bn people — more than 40% of the world’s population — will be living in river basins
facing severe water stress

e more than 240m people, most of them in rural areas, will lack access to a clean water
source

¢ almost 1.4bn people will not have access to basic sanitation.

More information about the extent of these problems is shown in Fig. 3.1.

Fig. 3.1 — Population lacking access to a clean water source, 1990-2050
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In addition, increased flows of nitrogen, phosphorus and pesticides from agriculture and poor
wastewater treatment will contaminate ground water, rivers and oceans, harming the
environment and human health.

As countries develop their economic structure will change, transitioning from relying on the
primary sector, to manufacturing and then to tertiary. Over time a larger proportion of their
Gross Domestic Product (GDP) is derived from manufacturing rather than agriculture and so
their pattern of water demand (measured in km3) will change, as shown in Fig. 3.2.

©0CR 2016 H460/03 Turn over
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Fig. 3.2 — Global water demand by use, 2000 and 2050*
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25 Lifestyles and diets are becoming more westernised in the emerging economies. Average
incomes are rising as a consequence of high rates of economic growth. As a result more and
more people are consuming more and more water. Farmers are competing with households,
energy firms and industry for clean water, but economic production continues to pollute making
it harder to access sufficient clean water. A high volume of water consumption is just one

30 example of how economic growth has resulted in environmental degradation.

In 2014 the President of the World Bank gave a grave warning about the risks of natural
resource conflicts, particularly water and food. While the UK saw record rainfall, California in
the USA experienced the worst drought on record. It does not take much to remember the

35 spikes in global food prices that have occurred in recent years, as shown in Fig. 3.3. The
President of the World Bank also said that there would be no solution to climate change
without private sector involvement and urged companies to seize the opportunity to make
profits.

Fig. 3.3 — World Bank food price index, 2008-2013

Q1 Q2 Q3 Q4
2008 n/a n/a 87 80
2009 90 95 93 97
2010 91 90 101 110
2011 120 123 123 115
2012 120 121 132 121
2013 116 117 112 n/a

40 Governments have long debated the best response to natural resource conflicts and
environmental damage. They have considered the merits of policy measures, including:

environmental taxation

pollution permits

subsidies for innovation into greener technologies
subsidies to encourage firms to recycle water.

45

©0CR 2016 H460/03 Turn over
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31 State two functions of the environment.

32 Using Fig. 2.1, describe the trend in environmental taxes as a percentage of total tax
revenue between 1998 and 2012.

33 Increased flows of nitrogen, phosphorus and pesticides from agriculture harm the
environment.

Using an appropriate diagram, explain how the negative externalities arising from
agricultural production cause market failure.

©0CR 2016 H460/03
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34 Evaluate how useful Cost Benefit Analysis is to a government when making a decision on
whether or not to build flood defences.

©0CR 2016 H460/03
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35*  Evaluate, using an appropriate diagram, the extent to which indirect taxation is the best
method of reducing environmental damage.
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...................................................................................................... [15]
With reference to the data in Fig. 3.2, compare the forecast changes in:

e total water demand

¢ manufacturing water demand
in developed and emerging economies between 2000 and 2050.
......................................................................................................... [4]
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37*  Evaluate the extent to which changes in the structure of an economy will influence its
ability to achieve sustainable development.
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Q

Key

Rationale

AO

Quantitative
skills

1

C

o0 >

Distractor as this is the participation rate.

Distractor as this is the unemployment rate.

Correct: This is a definition of the dependency ratio.

This is the replacement ratio, despite being related to income it should still be active as it still a ratio
and has plausible links to the notion of dependency.

AO1

>

A decrease in the average propensity to consume will cause aggregate demand to fall and real GDP
levels to fall.

Correct: A decrease in the marginal propensity to save suggest that consumption levels will begin to
rise and this will cause aggregate demand to increase and real GDP levels to rise.

An increase in the marginal propensity to import will cause aggregate demand to fall and real GDP
levels to fall.

An increase in the marginal rate of tax will cause aggregate demand to fall and real GDP levels to
fall.

AO3

o0 w>

A fiscal policy measure.
A fiscal policy measure.
Set by the government.
Correct: A monetary policy measure and so within the remit of the central bank.

AO1

o0Ow>

Movement along the demand curve.
Correct: causes a shift to the right.
Would cause a shift to the left.
Would cause a shift to the left.

AO1

>

oO0Ow

Correct: productive efficiency occurs when a firm produces at the minimum efficient scale and it’s at
the bottom of the long run average cost curve.

It should be average costs rather than marginal costs.

This describes pareto efficiency rather than productive efficiency.

This is the level of output at which a firm profit maximised.

AO1

Om>

PED for exports + PED for imports = less than 1.
PED for exports + PED for imports = less than 1.
PED for exports + PED for imports = less than 1.

AO1
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D Correct: PED for exports + PED for imports = greater than 1.
7 B | A A high capital-output ratio means physical capital isn’t very productive resulting in a lower rate of AO1
economic growth.
B Correct: A high savings ratio provides banks with funding to lend to finance capital investment and a
low capital—-output ratio means more productive physical capital.
C Low savings means banks cannot lend to fund capital investment.
D Low savings means banks cannot lend to fund capital investment.
8 A | A Correct: Would result in an increase in output since it would lead to resources having greater AO3
productivity.
B Has the potential to increase demand but with all resources fully employed output cannot be
increased to meet the higher demand.
C Has the potential to increase demand but with all resources fully employed output cannot be
increased to meet the higher demand.
D Has the potential to increase demand but with all resources fully employed output cannot be
increased to meet the higher demand.
9 A | A Correct: Social greater than private. Based on benefit. AO1
B Negative externalities of production.
C Negative externalities of consumption.
D Positive externalities of production.
10 C | A tisto the left of the intersection of MC and AC and therefore not productively efficient. AO3 v
B rpst = profit ie revenue minus cost.
C Correct: x is the point where PED =1 since at w MR = 0 and s is to the left of x so elastic.
D Identifying area of total cost only.
11 B | A Anincorrect economic term. AO1
B Correct: There is more than one use for Chinese land and so it is composite.
C The stem describes competition for the use of Chinese land rather than demand increasing as a
result of demand for another good.
D Joint demand is when complementary goods are purchased together.
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12 C | A Thisis the first time the increase in MP diminishes. AO2 v
B Even though MP does not rise, it is a case of constant returns.
C Correct: at this point MP falls for the first time.
D This is a case of negative returns.
13 C | A Thisis a factor affecting elasticity of supply of labour. AO1
B This is a factor affecting elasticity of supply of labour.
C Caorrect: this is a factor affecting elasticity of demand of labour.
D This is a factor affecting both elasticity of supply of labour and elasticity of demand of labour. Since
the question asks which factor does not affect supply, the candidate should eliminate this option.
14 C | A Although a possible secondary goal, unlikely to be the focus for the majority of shareholders. AO2
B The divorce of ownership and control allows management to run the business to their mutual
advantage. Beneficial pension schemes, top spec company cars, lavish corporate entertainment etc
will reduce overall profit potential away from the maximum position.
C Correct: Whilst running a business to their satisfaction, managers are still aware that they must
make sufficient profit in order to pay the dividends that will keep shareholders happy.
D Least likely option but a distracter especially for the less well prepared candidates.
15 C | A Based on a multiplier of 10, which might be thought to be the correct answer if 1/mps is used AO3 v
B Based on a multiplier of 2.5 which might be thought to be the correct answer if 1/mrt + mpm is used
C Correct: The multiplier is 1.0/0.5 = 2. The government wants to raise GDP by $150bn and so it has
to increase its spending by £150bn/2 - $75bn.
D The gap between current and desired GDP.
16 C | A May face an economy at any particular time, but will not necessarily be a problem. AO1
B May face an economy at any particular time, but will not necessarily be a problem.
C Correct: itis a problem that any economy will face at all times.
D May face an economy at any particular time, but will not necessarily be a problem.
17 C | A 5000 x8% AO2 v
B Taken change in price over the new price and not the original, so 16% / 20% = 0.8 (16% x 5000 =
800).
C Correct: ?/25% = 0.8, so % change in quantity supplied = 20% (20% x 5000 = 1000).

10
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Based on the view that PES =% change in price / % change in quantity supplied so that % change in
quantity supplied = 25% (25% x 5000 = 1250).

18 B

o0 w>

A lack of information is not a key characteristic.

Correct: private sector firms will not have a financial incentive to produce public goods.
The problem is under-production.

This may occur, but is not the reason.

AO1

19 B

>

O

This sometimes happens as with some EU countries but it is not necessarily a feature of either a
customs union or a free trade area.

Correct: Distinguishes a customs union from a free trade area.

This will give effectively the same result as a. It isn’'t necessarily a feature of either a customs union
or a free trade area.

This is a characteristic of both customs unions and free trade areas.

AO1

20 C

With a perfectly inelastic supply curve all income is Economic Rent so a parallel shift in the LS curve
will alter the economic rent, statement 1 is therefore untrue and with a perfectly inelastic supply
curve labour will be supplied whether the wage rate is 0 or infinity so statement 2 is true.

With a perfectly inelastic supply curve all income is Economic Rent so a parallel shift in the LS curve
will alter the economic rent, statement 1 is therefore untrue and for statement 2 to be true the labour
supply curve would need to be perfectly elastic, it isn’t so statement 2 is therefore also untrue.
Correct: With a perfectly inelastic supply curve no income is Transfer Earnings so a parallel shift in
the LS curve will not alter the Transfer Earnings, statement 1 is therefore true and with a perfectly
inelastic supply curve labour will be supplied whether the wage rate is 0 or infinity so statement 2 is
also true.

With a perfectly inelastic supply curve no income is Transfer Earnings so a parallel shift in the LS
curve will not alter the Transfer Earnings, statement 1 is therefore true and for statement 2 to be true
the labour supply curve would need to be perfectly elastic, it isn’t so statement 2 is therefore untrue.

AO2

21 C

Based on demand falling by 30, rather than rising by 30.

The reference to the unchanged sterling r=price might make candidates think that demand will
remain unchanged.

Correct: The price in the USA is initially $400 000 and total revenue earned is 90 x $400 000 =
$36m. When the exchange rate changes, the price in the USA falls to $300 000. As PED =1,

AO3

11
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revenue will stay the same at $36m. So now the number of cars sold in the USA is $36m/$300 000 =
120 cars.
D Based on demand rising by 60 on the basis of 436m/$240 000 as some candidates may think that
the US price will fall by 40%.
22 C |A 20p=increase in wage. AO3 v
B £20.20 = new average wage.
C Correct: Total cost of 50 workers = £1,000. Total cost of 51 workers = 51*£20.20 = £1030.20
Marginal cost = £1030.20-£1000 = £30.20.
D £1030.20 = Total cost of employing 101 workers.
23 D | A Not a characteristic and there may be more pressure for greater harmonisation. AO1
B  With more open economies, national economies are more subject to external shocks.
C Transnational organisations tend to become more powerful, given the greater interdependency of
economies.
D Correct: Globalisation involves greater mobility of products and capital with barriers to their free
movement between national economies being reduced.
24 A | A Correct: Belgium — highest proportion of foreign trade and FDI as % of GDP. AO3 v
B Denmark — only country with a surplus of inward FDI but foreign trade and FDI accounting for
smaller % of GDP than Belgium.
C Germany — largest trade surplus but foreign trade and FDI accounting for smaller % of GDP than
Belgium.
D USA - largest values of foreign trade and FDI but they account for smaller % of GDP than Belgium.
25 B | A This may reduce current account surplus but it would increase unemployment as the skills of AO3
workers would be reduced making them less employable.
B Correct: a decrease in interest rates would be expected to stimulate demand. Higher demand would
reduce cyclical unemployment and would be likely to lead to higher imports which would reduce the
current account surplus.
C This may reduce current account surplus but it would be likely to increase unemployment as firms
are likely to reduce their output.
D This may reduce current account surplus but it would be likely to increase unemployment as exports

are likely to fall and imports rise so domestic firms will reduce output.

12




H460/03 Mark Scheme June 20XX
; Quantitative
Q | Key Rationale AO skills
26 A | A Correct: As individuals do adapt their expectations of inflation as the price level changes. AO1
B This is an assumption required for the Phillips Curve relationship to hold. The opposite of the correct
answer A.
C The Phillips Curve shows money wages.
D This explains the traditional Phillips Curve relationship.
27 C | A Strong complements. AO1
B Weak complements.
C Correct: Weak substitutes.
D Strong substitutes.
28 B |[A 49/104x100=47% AO2 v
B Correct: 118/ 112 x 100 = 105%
C 105/105 x 100 = 100%
D 120/140x 100 = 86%
29 C | A Incorrectly multiply V x 100 and then divide by M. This option also provides ‘balance’ with the same AO2
number of choices above 100 as below.
B Incorrectly multiply V x T and then divide by M.
C Correct: correctly multiply M x V and divide by T.
D Incorrectly multiply M x T and then divide by V.
30 B | A International trade will be reduced and limit globalisation. AO1
B Correct: The provision of fuller information has encouraged globalisation.
C Capital will be less mobile and limit globalisation.
D Labour will be less mobile and limit globalisation.

13
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31 One mark for each function, up to a maximum of two 2 Indicative content
marks.
A01x2) | The environment performs three functions; candidates must
give two of the following:
e provides resources
e offers amenities
e absorbs waste.
NB These terms are not explicitly incorporated within the
stimulus material, so drawing on that material is not
expected.
32 Up to two marks: 2 Indicative content
One mark for a relevant description which does not make | (A92x2) 1 |n 1998 environmental taxation was 9.6% of total taxation
reference to specific figures. revenue but it fell to 8.1% in 2012.
For second mark, must be comparative and use % rate. There is a downward trend in environmental taxation as a
percentage of total taxation revenue from 9.6% in 1998 to
8.1% in 2012.
Environmental taxation as a percentage of total taxation
revenue was at its highest in 1998 at 9.6% but the lowest
percentage was in 2006 at 7.4%.
33 Up to four marks: 4 Indicative content
Up to two marks for the diagram.
Up to two marks for an explanation. @O 1 | NB Candidates may draw on the material incorporated within
a03x2) | the stimulus material, but this is not required in order to
Two marks for a correct and relevant diagram. access the full mark range.
Accept price rather than costs/benefits and output or
guantity.
One mark for a relevant diagram with some omission(s), or
a diagram that uses demand and supply labelling.

14
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Up to a further two marks for a correct explanation. costs/
One mark for any of the following, up to a maximum of two benefits MSC MPC
marks:
e external costs are not taken into account in production P
decisions/there will be a divergence between MPC and 1
MSC p
e quantity will be above and price will be below the /
allocatively efficient levels/there will be overproduction
and overconsumption /
o there will be a deadweight loss/loss of economic
welfare. MSB=MFB
0 Q Q quantity
34 Level 2 (5-8 marks) 8 Indicative content

Good knowledge and understanding of the value of using
Cost Benefit Analysis (CBA) for deciding whether or not to
build flood defences.

Strong analysis of how a government could use CBA to
make the decision about whether or not to build flood
defences.

Strong evaluation including a supported judgement of the
usefulness of CBA to a government when making a
decision whether or not to build flood defences.

Level 1 (1-4 marks)
Reasonable knowledge and understanding of CBA.

Reasonable analysis of how a government could use CBA
to make the decision about whether or not to build flood
defences.

Limited or no evaluation.

(AO1x1
AO2 x 1
AO3 x 2
AO4 x 4)

¢ Definition of CBA and basic understanding that it
identifies social costs and benefits, making comparisons
between them to assess whether the social benefits
outweigh the social costs.

¢ Long and wide view of CBA.

e External costs — the disruption while the flood defences
are being built, noise pollution, congestion from work
traffic, loss of habitats and rare species, opportunity
cost.

o External benefits — improved health and productivity,
businesses not lost, do not lose transport links or rare
habitats, do not need to give relief aid to regions
affected by flooding — opportunity cost

Reasons why it may:

o effective use of scarce resources — a more rational way
of evaluating an important investment project than
relying on projections of private profit or even having
no/few facts or figures to consider

15
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0 marks no response or no response worthy of credit

Note: although a diagram is not required, it may enhance
the quality of the answer and should be rewarded at the
appropriate level.

weigh up social benefits against social costs, not just
private benefits against private costs

provision of more information to make more informed
choices

the Environment Agency uses a CBR of £1:£8 set by the
Treasury

because financial resources are scarce, CBA usually
allows projects to be ranked according to those which
provide the highest welfare — especially if there are
limitations on government spending

hard to place a monetary value on the external costs
and external benefits from flood defences

the results will depend upon the rate of discount of
future costs and the government will use shadow pricing
and this may not reflect the true benefits and costs

the costs of undertaking the CBA might be greater than
the usefulness of the information that it provides

there may be bias in the collection of data to construct
CBA because of a lack of skills or a preference for a
particular outcome, or there may be bias in the attitude
taken to risk

hidden costs may exist because of future costs which
can’t be accounted for.

Credit, where appropriate, knowledge/analysis of other,
relevant factors.

Possible routes into evaluation:
¢ the value of CBA will depend upon the accuracy of the
data gathered on social costs and social benefits. In

order to achieve this, the assumptions made in the CBA

should be explicit. Ideally a range of CBA results should

be given showing the impact when different assumptions
are made

e social costs and benefits that cannot be expressed in

16
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monetary terms should be clearly stated
¢ the investment project decision may be influenced by
other factors, such as political or social considerations
are more important
¢ more useful in a comparison with other projects
(opportunity cost)
¢ the longer the time involved, the less reliable the
technique
e costs tend to be experienced at the start, benefits come
later, and this can distort the decision.
35| * Level 3 (11-15 marks) 15 Indicative content
Good knowledge and understanding of indirect taxation as
a method of reducing environmental damage. @9 x2 | NB Candidates may draw on the material incorporated within
:Sf;g‘) the stimulus material, but this is not required in order to

Strong analysis of how indirect taxation can reduce
environmental damage. A relevant and accurately drawn
and labelled diagram is provided and is linked to the
analysis.

Strong evaluation including a supported judgement on the
extent to which indirect taxation is the best method of
reducing environmental damage.

There is a well-developed line of reasoning which is clear
and logically structured. The information presented is
relevant and substantiated.

Level 2 (6—10 marks)
Good knowledge and understanding of indirect taxation as
a method of reducing environmental damage.

Good analysis of how indirect taxation can reduce
environmental damage. A relevant diagram is provided
and is linked to the analysis.

access the full mark range.

e Taxation is used to reduce the production of goods
which cause negative externalities. The government
hopes that by intervening in the market it will reduce
production to the socially optimum level of
output/allocatively efficient.

¢ Candidates may reference Fig. 2.1 and describe how
environmental taxation has changed in the UK between
1998 and 2012.

Reasons why it may be the best:

o taxation will increase a firm’s costs of production,
causing the supply curve to shift to the left. This will
result in a fall in quantity of units produced and therefore
a reduction in business activity and environmental
damage.

17
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Reasonable evaluation of whether indirect taxation is the
best method of reducing environmental damage but
without considering the extent.

There is a line of reasoning presented with some structure.
The information presented is in the most-part relevant and
supported by some evidence.

Level 1 (1-5 marks)
Reasonable knowledge and understanding of indirect
taxation and/or environmental damage.

Reasonable analysis of how indirect taxation can reduce
environmental damage. The diagram may not be relevant,
may be inaccurate or may be missing.

Limited or no evaluation.

The information is basic and communicated in an
unstructured way. The information is supported by limited
evidence and the relationship to the evidence may not be
clear.

0 marks no response or no response worthy of credit.

D

0 Q; Q quantity

this will reduce the divergence between MSC and MPC
(this may be shown and labelled on the diagram).
taxation is consistent with the Polluter Pays Principle;
because it will internalise the negative externality firms
will realise the external cost caused through their
production as their costs of production rise

the tax revenue could be used by the government to
fund expenditure on merit goods and/or into flood
defences resulting in an increase in job creation and an
improvement in the productive potential of the economy.
This may be shown by an AD/AS diagram linked to the
national income multiplier.

Reasons why it may not be the best:

there are questions over how taxation should be
implemented; flat or ad valorem?

indirect taxation may be regressive and so the poor bear
the main burden of reducing environmental damage

it is hard to place an accurate monetary value on the
external cost and so the indirect tax may not fully
internalise the externality

government failure may result from a lack of information,
which leads to the value of the external cost being
misinterpreted and placing too high or too low a tax on
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industries that cause environmental damage

indirect taxation will be less effective in the case of
goods that have price inelastic demand

if only one government imposes an indirect tax, it may
result in a loss international price competitiveness,
which can lead to lower aggregate demand and so lower
economic growth and raise unemployment

it could discourage multinational companies from setting
up in the country, and therefore leading to less inwards
FDI

if the tax affects a significant number of industries, there

will be a reduction in short run aggregate supply
¢ it may not be the best in all circumstances
e benefits of other relevant methods of reducing
environmental damage, which may include an
appropriate diagram.

Credit, where appropriate, knowledge/analysis of other,
relevant factors.

Possible routes into evaluation:

Alternative methods of government intervention should be
compared to indirect taxation in terms of relative
effectiveness, e.g.:

¢ pollution permits provide both a reward and a penalty,
and this combination is more likely to be effective than
just indirect taxation

¢ indirect taxation may be more effective if the limit in a
pollution permit scheme is set too high so the behaviour
is not affected

¢ the price of pollution permits may be affected by the
economic cycle so that it falls so low that the reward for
reducing pollution is less than the benefits of polluting,
thus making taxation more effective

e in a situation where a government is trying to reduce the
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budget deficit, the government’s view of the best method
would be indirect taxation rather than subsidies

¢ the provision of information may be a better long term
method than taxation because it alters behaviour and
allows for free markets to more truly reflect costs and
benefits

e impact of price elasticity of demand.

36 Up to four marks: 4 Indicative content
Up to two marks for changes in total water demand.
Up to two marks for changes in manufacturing water (A02x4) | Total water demand in developed economies is forecast to
demand. fall, whereas in emerging economies it is forecast to rise.
Two marks for a relevant comparison of total water Manufacturing water demand in both developed and
demand between the two types of economy. emerging economies is forecast to rise, but the rise is

forecast to be greater in emerging economies.
One mark for a relevant discrete statement about just one
type of economy.

Two marks for a relevant comparison of manufacturing
water demand between the two types of economy.

One mark for a relevant discrete statement about just one
type of economy.

37| * Level 3 (11-15 marks) 15 Indicative content
Good knowledge and understanding of the structure of an
economy in the context of sustainable development. @0 x2 | NB Candidates may draw on the material incorporated within

ao3x4 | the stimulus material, but this is not required in order to

Strong analysis of how changes in the structure of an AO4x8) | access the full mark range.

economy can influence its ability to achieve sustainable

development. e The structure of an economy is the balance between the
primary, secondary and tertiary sectors.

Strong evaluation including a supported judgement on the e Sustainable development involves meeting the needs of

extent to which the structure of an economy can influence the current generation without compromising the ability
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its ability to achieve sustainable development.

There is a well-developed line of reasoning which is clear
and logically structured. The information presented is
relevant and substantiated.

Level 2 (6-10 marks)
Good knowledge and understanding of the structure of an
economy in the context of sustainable development.

Good analysis of how changes in the structure of an
economy can influence its ability to achieve sustainable
development.

Reasonable evaluation of how the structure of an
economy can influence its ability to achieve sustainable
development but without considering the extent.

There is a line of reasoning presented with some structure.
The information presented is in the most-part relevant and
supported by some evidence.

Level 1 (1-5 marks)
Reasonable knowledge and understanding of the
structure of an economy and/or sustainable development.

Reasonable analysis of how changes in the structure of
an economy can influence its ability to achieve sustainable
development.

Limited or no evaluation.
The information is basic and communicated in an

unstructured way. The information is supported by limited
evidence and the relationship to the evidence may not be

of future generations to meet their needs.

Reasons why it may compromise:

an increase in the secondary sector may increase
demand for water and create negative spill-over effects
in the form of chemical discharges into water systems,
increase in waste and other pollutants

an increase in the primary and/or secondary sector may
result in natural resources being over—exploited

an increase in the primary sector may result in greater
extraction in raw materials causing harm to natural
environment

changes in the structure of an economy may lead to
faster economic growth which will result in rising GDP
per capita resulting in changing diets and greater
demand for meat which puts greater pressure on land
and the need for water

also increase in demand for income elastic products
such as cars leading to greater congestion and rise in
carbon emissions

increased rural to urban migration leading to higher
urbanisation

going from primary to secondary is likely to increase
total water demand

if there is a movement from the primary/secondary
sectors to the tertiary sector, industrial production may
experience a relative decline and less use of natural
resources and less pollution

an increase in the tertiary sector resulting from an
increase in tourism may lead to greater protection of
natural habitats and cultural heritage

an increase in firms’ profits which can be invested into
greener technologies and alternative ways of generating
energy or extracting resources

an increase in the secondary sector resulting from an
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clear.

0 marks no response or no response worthy of credit.

expansion of green production can reduce pollution

e as the structure of an economy changes, it has an
impact on income which can reduce pollution (an
environmental Kuznets curve can be used to show this)

e an increase in the tertiary sector resulting from more
education may lead to a reduction in information failure
and people will be more aware of how to modify their
behaviour to reduce environmental damage

e an increase in the tertiary sector resulting from more
healthcare being provided and improved diets will lead
to a more productive labour force and may cause less
environmental damage.

Credit, where appropriate, knowledge/analysis of other,
relevant factors.
Possible routes into evaluation:

¢ depends on what is being produced in the various
sectors, e.g. oil production may cause pollution but
might generate more income and tax revenue than
agriculture

¢ the rate of change from one sector to another will
influence an economy’s ability to develop in a
sustainable way

¢ it will depend on the government policy measures put in
to place to make any change more sustainable.

e direction of change

e extent to which sustainability maybe compromised as a
result of globalisation.
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Question AO1 AO2 AO3 AO4 TOTAL (Q“:Eitlig“"e
SEe oA 16 6 8 30 (12)
31 2 2
32 2 (2) 2 2)
33 1 1 (1) 2 (1) 4 (2)
34 1 1 2 4 8
35 2(2) 3(2) 4(2) 6 (2) 15 ®)
36 4 (2) 4 (2)
37 2 3 4 6 15
SET%T%X'E' B 8 14 12 16 50 (14)
PAPER TOTAL 24 20 20 16 80 (26)
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